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QUESTION 1

Which of the following will occur if a master license server fails with no standby server present? (Choose two) 

A. Local controllers licenses will continue to be valid for 30 days 

B. Local controllers will immediately remove all installed licenses 

C. No licenses will be sent to any new controllers that come online 

D. All licenses go back into the pool for redistribution 

E. A Local Controller elects itself master license server 

Correct Answer: AC 

 

QUESTION 2

, 
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View the Server group and User Roles screen shots above. 

A user associated to an SSID with 802.1x using this server group. RadiusNY returned a standard radius 

attribute of filter-Id with a value of "employee". The user was placed in the guest Role. What statements 

below are correct?(Choose two) 

A. The user was placed in the 802.1x authentication default Role guest 

B. The user was placed in the initial Role guest 

C. Role derivation failed because roles are case sensitive 

D. Role derivation failed because the incorrect operation "value-of" was used 

E. 802.1x authentication failed so the user was automatically placed in the guest Role 

Correct Answer: AC 

 

QUESTION 3

A Server Group has been configured with three Radius servers. Load balancing has been enabled. Choose the correct
statement? 

A. All Radius request are sent round robin continuously 

B. 10 request are sent to first server then 10 to the next server 

C. Only the first two servers are used and the third is a backup server 

D. Runs average response times and balances the load accordingly 

E. To use Load Balancing EAP Termination must be enabled 
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Correct Answer: D 

 

QUESTION 4

A user connected to a Captive Portal VAP successfully. When the user opens their browser and tries to access their
homepage, they get redirected as expected to another URL on the Aruba Controller. However, they see an error
message that web authentication has been disabled. What might be a cause of this? 

A. Captive Portal has not been assigned in the SSID profile. 

B. The Captive portal profile has not been assigned to the AAA profile. 

C. A server group has not been assigned to the captive portal profile. 

D. An initial role has not been assigned to the AAA profile. 

E. The Captive portal profile has not been assigned to the initial role. 

Correct Answer: E 

 

QUESTION 5

View the Server group screen shot above. A company has provisioned the same VAP, AAA and SSID profiles at both its
Miami and NY offices. This Server Group is applied for 802.1x authentication at both locations. The user\\'s credentials
are only found in the Miami Radius server "RadiusMiami". There is no Radius synchronization and both servers are
reachable. What happens when the user attempts to authenticate? 

A. The controller recognizes the users Domain and sends the authentication request directly to RadiusMiami. 

B. The request is initially sent to RadiusNY1 then RadiusNY1 redirects the controller to send the authentication request
to RadiusMiami 

C. RadiusNY1 receives the request and returns a deny. No other action is taken. 
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D. RadiusNY1 receives the request and returns a deny. The authentication request will then be sent to RadiusMiami. 

E. The RadiusNY1 sends the request to RadiusMiami that replies to the controller 

Correct Answer: C 
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